Combined Higher Secondary Level (10+2) Examination-2018

Roll No. |

Name

Test Venue Modern Institute of Technology and Research Centre
Test Time 10:00 AM -11:00 AM

Test Date 03/07/2019

Section : General Intelligence

Q.1 OF 31&rl & HIIT o1 Ig+1 o St foh & 7T 318R siEe & Reh Tl § shATgaR &9 9 7@ s
R T hl GRT hAM|

a_b_aad_ca_dbc_adb_a
Ans  of 1. dcbaac

X 2. dcabca
x 3. dcabac
X 4. dbcaca

Question ID : 98958015764
Status : Answered
Chosen Option : 3

Q.2 fA=fafEa ereal &t 3¢t v & nd S s A @ sidlsht eregenter & amda
1. Denote
2. Destiny
3. Diagonal
4. Demand
5. Density

Ans X" 1.4,3,2,1,5
o 241523
X 341,253
/X 4.3,51,4,2

Question ID : 98958015759
Status : Answered
Chosen Option : 4

* A & g sl F Reew e e &7

Ans «1_ 28




X2 26
X 2. 24

X 4 30

Question ID : 98958015779
Status : Answered
Chosen Option : 4

Q4 3 3 IE F A SN ol =it F f9 F w6 7 75 3=01 @ T gl
YT, ATk, T

Ans

XS
m@
©

O

K3

Question ID : 98958015783
Status : Answered
Chosen Option : 2

¥ 3g ReeT F 98w wL owd A9 & o wgfy safAfa §

g

Ans

%




p !

vi | A

Question ID : 98958015780
Status : Answered
Chosen Option : 2

Q.6 ufe FINGER Y 15232112239 & =U H shlSds fohar Simar @ 3k MARKET @kt 14192916252 &
*U § s foFar Sirar & 9 MILTON &Rt &€t shtsdg forar smam?

Ans X" 1. 22122353295
o 2. 22213235295
/X 3. 2222213355

/X 4. 21223239525

Question ID : 98958015761
Status : Answered
Chosen Option : 4

Q.7 SU 9HEY &l gH fOrad ey 3¢ avg Hafda & S for ol aa=ag f S "@&@faa
gl

(11, 13, 288)
Ans X' 1(3,531)
o 2.(7,11,162)
75 3.(13,17,415)
/X 4.(19,23,828)

Question ID : 98958015774
Status : Answered
Chosen Option : 1

Q.8 I AE-TH I TG & forad 3F 2reg It aeg @ Haifda § i Frafaf@a ereg-gm d 3t areg
wafoa gl

Ty : 5
Ans X 1. aY : el
XZ.W:%@?
W 3.5 AR
X 4. e e

Question ID : 98958015766
Status : Answered
Chosen Option : 4

Q.9 39 faohey ol 9o & Wit IR 31eR-Tg | St avE Hafda & I gERT S1eR-9g Usd o1er-




g | Gefda 81

MARK : FHMP :: LOAN :

Ans  of 1 EVVs

75 2.SWVE
75 3.EVSV
/5 4.SVEV

Question ID : 98958015762
Status : Answered
Chosen Option : 3

Q.10 F=faf@d ar sieR-Twggl A | = s1eR-awg e Affa a8 9 o 99 & ofR e sremT g1 39
ST JER-HHE &l g

Ans X1 AVZ
W 2 okL

X 3 Ezv
/X 4. UPF

Question ID : 98958015767
Status : Answered
Chosen Option : 2

UM =37 gl #71 99w FY S AR & T T HwAr F S THF 9 A

ju b2

i

L

=P

Ans

a <

< 3.

r

Question ID : 98958015778
Status : Answered
Chosen Option : 2

Q.12 Fafafea wfier @t @d e & fog 3o 5 5 Rigl o g-gR @ agemn gmm?

28-42+2+276x23=-44




Ans X1+ iR+
K 2. x 3R+
of 3 xR+
X4.+Gﬁ?-

Question ID : 98958015771
Status : Answered
Chosen Option : 1

Q.13 ue & urdy & & HerE-weET RufATt # A gefar o ¥ IR gew A g ge 2 ¥ A e s
HiA-Hr e e

{i) (i)

Ans  of 1 6
K21
K33
X 44

Question ID : 98958015777
Status : Answered
Chosen Option : 1

Q.14 39 fAereq &Y gA Sit o den @ 3¢t avg @ Gafda & S gmd T ugeht g @ @69 @1
68:100::45:___
Ans X1 141
K214
W 3 41
X 4 114

Question ID : 98958015772
Status : Answered
Chosen Option: 2

Q.15 T uRaR A S fAafiga N2 &I % F A TRAEIA, @ A u g, S # TS IF % I 21U, S
R aga g, St @ FT AT 81 T, # I 3T &, 5t Gk oy &l

AT % & T Hay &2
Ans  off 1 derrf/Sor
< 2. 2av9s
/X 3.
X 4.7

Question ID : 98958015765
Status : Answered
Chosen Option : 2

Q.16




s & 71g sgpfaat # fG@e 71T HqER vE Feer AT AR @ S gl
TE FE Wl W F fewrs &

1
=mmad

ii.
ES

Ans

5

NV

- &%
A

Question ID : 98958015781
Status : Answered
Chosen Option : 1

Q.17 FRafafaa ar gl d @ i 21 ves AfYa adids @ g S € iR Teh 31T 81 3 31T 205 i
gl
Ans X" 1. gt (Ggg R 98T e’ R Telr)

X 2. &Rrf
o 3. sEfi
p o

Question ID : 98958015768
Status : Answered
Chosen Option : 3

Q.18 F=faf@a sjen # wiw-+ dwar ust g (?) & ¥ R smgefi?
3,14, 29, 38, 51, 58, 69, ?
Ans X' 173
< 237
X 3 47
v g

Question ID : 98958015775
Status : Answered
Chosen Option: 3




Q19 afx v adOT F & T WFRT F A€ HRX @ I & Rw v Rw H @ gdor

Ans

oY F =TT F

flos

Question ID : 98958015782
Status : Answered
Chosen Option : 2

Q.20 7 & Ry 1 €, 39k @e oft= Frsemd |, 11 @ik 111 fRg 1Q &1 el ol G ATd gQ, WA &1
A R R AT a4 @ e g, ag FAofa AifSg i wa-a1/@ Ay =t o aiffes su @

Ans

SITERYT el &/ &1

YU
TS ¢RI TE &I
GGG R

it IR o= §1

fArsept:

|. $5 SRR FUEI

II. RY$ oft IR w1 A @1
lll. $B HU SR &1

25 1. Sae ey | 3R 11 3ERT &R &1
75 2. 3t Frsnd 11 3R 111 SrgER0T &R &
of 3. ot fored iR = e |

75 4. et Frend | 3R 111 SrgER0T &% &1




Question ID : 98958015769
Status : Answered
Chosen Option : 2

Q.21 Weh hts W1 #, LOGITECH Y CFCEBAYD for@r Sirar 1 3¢t urar & INFORMATION <Rt &
foraT srem?

Ans X 1. EEBFIDBWFEE
/< 2. EBEFDIWBEFE
/< 3. EBEDIFBWFEE

o 4 EEBFIDWBEFE

Question ID : 98958015760
Status : Answered
Chosen Option : 4

Q.22 R 1 day 'dear AN Rgg A ' ardaa'____ '3 @)
Ans X1 wad

W 25
75 3.
/X 4. e derd

Question ID : 98958015763
Status : Answered
Chosen Option : 2

Q.23 39 T=9d &t gA fTH T 3¢t avg S6lla § o s PafafEa agea i de]d @&6fda
gl

(11,13,17)
Ans X' 1.(5,7,9)
o 2.(19,23,29)
/X 3.(29,31,47)
/X 4.(31,37,43)

Question ID : 98958015773
Status : Answered
Chosen Option : 1

Q.24 Qe Gl gathe # 20 F i@ At &1 ucdss 7 ot a3ft o=a &= | g @ @1 @@fde &
foram da @<t STdA?

Ans  of 1 190
X 2195
X 3170
/X 4.180

Question ID : 98958015770
Status : Answered
Chosen Option: 2

Q.25 fA=fafEd ar Gzt # @ i dea]d ves fAffa adies @ v St & ok g s 81 o=
HEgreit @ el H&=AT 1 94 HifSigl




Ans X" 1 5472

X 2. 2421
of 3. 7261
/X 4. 4842

Question ID : 98958015776
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 g fo<ita A srffRas fora adf & urlRa fomar man an? 59 sifdfaras & wrea fa=ha At By
TYTYAT T AT &1

Ans X" 11947

/X 2.1983
75 3.1972
of 41951

Question ID : 98958015131
Status : Answered
Chosen Option : 4

Q.2 ufafda AR+ fohdhe aar (MCC) & uget IR-farfeer sieaer & & & fha of s fohdher i
ifaa forar man g2

Ans X 1 geliet TR
75 2. o sram
J3.W@Tcﬁm
75 4. wgen s

Question ID : 98958015134
Status : Answered
Chosen Option: 1

Q.3 Remi¥ SFrgaR &t ToRE & RfafEa Tyt d @ fora vu= oR a1 gard ergr a9 & forg
URA o= wrfereor @ 648 &S TUA a1 Seht e 22

Ans X 1 aroft
X 2. Rt
/X 3. &M
W 4 R

Question ID : 98958015116
Status : Answered
Chosen Option : 4

Q.4 “fodiet 3R a7 ehettal A& @14, afceh SehetTdl hl detaR fo=RT hY a= wR A= gt @ ok ot
et off, [ g0 Uehe &A1 TI1gd 217 gg arerr R=faf@a wdsar 9nfaal J @ frgenr &2

Ans X" 1 qrer TR fvereh
2K 2. wrer @

5 3 gz a




of 4 afis

Question ID : 98958015128
Status : Answered
Chosen Option: 3

Q.5 fA=fafEa & @ S9-ar A« MO ifaaerq & Iuwon # & U 81 82

Ans X 1. aretdsE gEER
X 2. =g foem
/X 3 Uiy
W 4 TiRER

Question ID : 98958015122
Status : Answered
Chosen Option: 3

Q.6 forg 7 & Tgres A& Fivener # ' A1 & S Sl 87

Ans X‘LW
of 2.7
X 3.

X 4. Riy

Question ID : 98958015126
Status : Answered
Chosen Option : 4

Q.7 firreht a3 Y oot +ff fhw fatw svRoT @ arg fRa StraT 82
Ans  off 1 3R R At e B R

X 2. 361 Ao & farera & mrag

X 3. 3R e 3 era e

X4 i 2 o g < dae e

Question ID : 98958015127
Status : Answered
Chosen Option : 3

Q.8 fre o # wRdta fohdhe &9 7 gt TR ywul o1 garfeashia Ry @ sfiar ar?

Ans X" 12015

75 2.2007
/X 3.2003
o 22011

Question ID : 98958015133
Status : Answered
Chosen Option : 4

Q.9 KR! darl A srsiar Hulal (gadi) w faega Rulé 37 & fag fone afafa it gfs fi
off?

Ans X 1. s afify




75 2. e gy
o 3. TR e affy
X 4 dea gfafy

Question ID : 98958015132
Status : Answered
Chosen Option: 3

Q.10 Siwiwrge F=fafae argeit 7 @ fora urg o1 erwr 82

Ans

VER T
X 2. v
X 3. wREm
75 4. deREw

Question ID : 98958015119
Status : Answered
Chosen Option : 2

Q.11 3 2018 , TY~h AL HSTHHT 7 3 S &t & wu # aifta forar am

Ans

25 1. ey Tet uRae e
X 2. fay sitdiareet Reaw
W 3. fsy arsfnet R

75 4. ey Hiezarsfane Raw

Question ID : 98958015137
Status : Answered
Chosen Option: 1

Q.12 ¥Rd # el wora =i s1ffram ot fore af & @y fomam mmam ar?

Ans

X 1.1973
/X 2.1953
o 3.1963
/X 4.1983

Question ID : 98958015117
Status : Answered
Chosen Option : 2

Q.13 T8 Frgfén & e #, PaaS @1 Sl gof wu a1 87
x 1. U¥e U © 9fd9 (Payment as a Service)

( 2. wiew Ut § 9fde (Platform as a Service)

x 3. Utelepler Tot ¥ Afdd (Protocol as a Service)

x 4. WA U1 © Ifde (Performance as a Service)

Ans

Question ID : 98958015121
Status : Answered
Chosen Option : 2

Q.14




fora @« & fay Ferm 3 "feued” A9 T a1 @« ey e fohar 82
Ans X1 3qw
75 2. @A
o 3. dsfic
75 4.2

Question ID : 98958015135
Status : Answered
Chosen Option : 2

Q.15 U=t faywor @ fayfa ufea Rragar i o1 dey FAafaf@a 9 @ fr ared= @ 82
Ans (1;@1

25 2. qae

X 3. aigd

75 4. draferr

Question ID : 98958015114
Status : Answered
Chosen Option : 4

Q.16 90 & &2reh & foFa A WReg §e A gEa g & wu A Afga dem & 9y oo ugeht
Qead ' ot Reftet fomar?

Ans X" 1 13AD
/X 2. demm
W 3 R
/X 4. v @t

Question ID : 98958015115
Status : Answered
Chosen Option : 1

Q.17 2019 # 73 wi} & =1¢ d@frisw & Tyfa RN = F-a1 d=rera it T g2
Ans X 1 frer HaTerd

25 2. g 3R = Her

/X 3. Ara Gy R HErer

of 4. e ok arer e wamerm

Question ID : 98958015136
Status : Answered
Chosen Option : 4

Q18 G B uA Tz A R d
Ans  of 1 swrEs

75 2. Rmre e

/X 3. 5 ek iR

/X 4. fere

Question ID : 98958015124




Status : Answered
Chosen Option : 1

Q.19 HrEyHIeT 3fie fora g J feya @2
Ans X 1 afierTg

75 2. st

o 3. ==

X 4 e

Question ID : 98958015123
Status : Answered
Chosen Option : 4

Q.20 1937 # 3= # gt REeRT Afar gaon Ry AR 3 i@ do6i d @ fra o Hr
TUTGET i ofP?

Ans X1 &1 Eh
75 2. e &
/X 3. Ridide &
W 4 R sirefia &

Question ID : 98958015130
Status : Answered
Chosen Option : 4

Q.21 SFaRt 2019 # RS 7 W # RS e ufkas i gran w aerga &< aq Sural &
a3 & forg fore e &Y e it o2

Ans X 1. 3 et et
W 2. e Al de
25X 3. 3z 3w e
X 4 g et

Question ID : 98958015138
Status : Answered
Chosen Option : 2

Q.22 fA=fafEa d | fraat A 2019 § “RdT fohdhe 1< & maR sifdar (Ethics officer) & ®a
# frgn foram mam ur?

Ans o 1 < & 3=
/X 2. R AR auf
75 3. ffdie wre
X 4 grem

Question ID : 98958015129
Status : Answered
Chosen Option : 1

Q.23 w7a fheft o=t ueref uR gama e Siran @ qt gama uRad= e Rl g & ga & vedes v
# theren g1 fR=faf@a J @ ia-ar R 59 ge=r hY sarear sar g?

Ans X' 1. g Fam




75 2. wefeh a1 Fram
o 3. o @ P
75 4. Sree} o fram

Question ID : 98958015120
Status : Answered
Chosen Option : 4

Q.24 wRd & PAAfaf@a d | fra woa &7 SR arr iy fRaa 8, it 6 dehie 1oa aia 2
Ans X1 gmmRy

X 2. wefwrg

o 3w my

/X 4. mERE

Question ID : 98958015125
Status : Answered
Chosen Option: 3

Q.25 fawiferer 3Rk Sra<iferes 2ree a1 IuThT & Teof A forar STTaT @)
Ans X 1. Tk ymfE & o e

/X 2. i g & gmeadt a1 udr T
o 3. < @ A
X 4. T wieeeg & e

Question ID : 98958015118
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 T Id F el UF AT § OEE gAY 4 ¢ 3 & aeqed # §) 9 amaa & aftfAfE 56 om &, &
Ieo &1 &R (em? #) F4T §?

A of 11007
X2 70m
/<3 90w
<4 96w

Question ID : 98958015637
Status : Answered
Chosen Option: 3

Q.2 AABC & BDLAC ¥ BC W E v fig &, Sl £BEA = x°| 391 £EAC = 38° 3 £EBD - 40° &, &
X & A E

Ans X1 72°
X 2 68°
V' 88°
X 4 78°




Question ID : 98958015651
Status : Answered
Chosen Option : 4

Q3 fofh 3vg W 3EH TG TEE 1.2 I qod Hfha R e ) e rmr moeE Siem e i
& &g, @1 TEHT 10% Ig ST &1 O dfged #

. 2
X837

1
v 85

X3 9
<410

Ans

Question ID : 98958015639
Status : Answered
Chosen Option : 2

Q4 zfr sing sec?6="2,00<0<90° &, & (tan®0 + cos?6) 1 F g:

Ans x 1 1
1. 255
12
. 5
X2z
4
13
& Wi
12
. |
K4 —
b
Question ID : 98958015655
Status : Answered
Chosen Option : 2
Qs (sinf —cosecd){cosf —sech)
L o
tan?8—sin2@ %’ Fﬂ-
Ans X 1. tan@
< 2 cosech sech
v 3 cotd
# 4 sinfBcosh
Question ID : 98958015654
Status : Answered
Chosen Option : 2
Q.6

Z@+sec’d
S cofl =6 ¥ @ O iy S

cosecZB—sec?8

Ans . 49
R
36




Question ID : 98958015653
Status : Answered
Chosen Option : 1

Q7 R x+y+z=2 § xy+yz+zx=—11 § G x* +y3+ 2% — 3xyz H FT g
Ans X 1.148

v'2 74

<3152

<470

Question ID : 98958015648
Status : Answered
Chosen Option : 2

Q.8 femr sy &= AW (I W) 2016 HW 2017 & Ry Soer g@mn e (v ov Affes 9o & aEar
(st #) Fr geiar

Different Type of Vehicles (in lakhs) exported by a
company in 2016 and 2017

© 625
525 525
0
50 45 73
W
=
P w2015
] w2017
0
o
A 8 ¢ o e

Types f vehicles

Number of vehicles exported (in lakhs)
&

&I ga 2017 # e fw aw ¢ AR E Tw & apat & go v, 2016 # e B v wen
A B 3R C o359 & agat & o 5= A e wion (v e T & AT w6 st §

Ais  of 1. 45
X254
X352
X4 41

Question ID : 98958015659
Status : Answered
Chosen Option : 1

% 3x2+30f2x3+(5+5x5+50f5-5+100f %) r Welpa A gw:




Question ID : 98958015645
Status : Answered
Chosen Option : 3

Q.10 g7 17 &2 3@ (A} W) 2016 AT 2017 #F fFdr Fo=h q@mr g e 7w fafies 9o & agar
(et ) @ r geEr

Different Type of Vehicles (in lakhs) exported by a
company in 2016 and 2017

= @ (=1]

s e 50 525 525

£ 45 L

5 0

5@ 5

Fw n 016
L w2017
3w

20

H a 5 c ° e

z

Types fvehicles

2016 F F7er 2o fTaE v 7T w2 goR F arat §r sies =, 2017 #§ e e v eEw B
gAT F TEW ¥ Frae gfoe 7 7

Ans X112
v'2 16
X318
X415

Question ID : 98958015657
Status : Answered
Chosen Option : 4

Q.11 S a9 Tger, A 3T B F AG & AT 9 1 10 0T | HE 4 I qE IAHT Y T 12013
BRI C #r FoA A (I A) F7 §, IS IEH WG A F 6 I9 e B

Ans of 1. 50
X 2 48
X 3 56
X4 42

Question ID : 98958015642
Status : Answered
Chosen Option : 4

Q.12 ﬁoooo%nﬁmmmaﬁmﬁwéﬁﬁmmgzaﬁﬁwamam%lmrrﬁr
q'{afmea'ﬁsg Nt F HTUROT =TS F4AT 2T

Ans X 1. T4040
V2 F4320
X 3. 74160
X 4 73840

Question ID : 98958015643




Status : Answered
Chosen Option: 2

Q.13 fzr 7m2m &2 A (A} W) 2016 A 2017 #F fFdr Fo=h q@Emr g e o fafies 9o & agar
(FTgT &) W FATET F

Different Type of Vehicles (in lakhs) exported by a
company in 2016 and 2017

0 625
525 525
0
50 45 LL
40

40 35
n w2015
0 w2017
1

o

A ] c 3 3

Types f vehicles

exported (in lakhs)

Number of vehicles

2016 # @uelr 2@ e T = aer D X E @9 & e H go we A 2017 F e
7T C AR E TET F qE F OGS 4w §?

ans K110 : 11

v220:23
<34:5
X45:-8

Question ID : 98958015656
Status : Answered
Chosen Option: 2

Q.14 PQRS s =Hr =g &1 3R £P, R & e & Jur £S5, £Q & AR & A £Q Fur LR &
T g

Ans f 1 g1e
<2 73°
x< 3 86°
x4 77°

Question ID : 98958015649
Status : Answered
Chosen Option : 3

Q15 3w 244/3x% + 5v5y® = (243x +v/5y) X (Ax? + Bxy + Cy?) §, ar (42— B>+ C?) &1 A #7471 87
Ars of1.109

<2139

~< 3108

<4128

Question ID : 98958015646
Status : Answered
Chosen Option : 1

Q.16




f&ar a2 25 3w (3R Tw) 2016 3k 2017 & R e ggwr e e o Riftes v & aest
(et ) @ r geEr
Different Type of Vehicles (in lakhs) exported by a

company in 2016 and 2017

60
525

0
&0
50
50 5
a0
a0 35
30

A B € o 3

525
a1s

Number of vehicles exported (in lakhs)

2017 & 50 91 & TE7 & FT 2016 & 33 9K & TE4 & AT F e 18.3% How §7
Ans X1- E
X2B
v
X4D

Question ID : 98958015658
Status : Answered
Chosen Option: 3

Q17 gfr 7awe st Hr FE TEA 5y5888406:6 WEA 72 ¥ He=w ¥, A 1 & Fgqaw A ¥ O,
(9x — 2y) FT AR FAT FM?

Ans X1 4
V23
X35
b

Question ID : 98958015644
Status : Answered
Chosen Option: 2

Q.18 = wg # faemfiat #1 3iwa 357 75.4 kg o1l a® A, 72.9 kg, 73.8 kg, 79.5 kg, 3R 87.4 kg
T aer IR ezt weg & oA @ v oy, Teg F mih Reafit & osdtwa a= e
0.24 kg 7 T7T| W F wWAg A et Fr wEm e o

Ars of 146
X2 36
K 48
X+ 50

Question ID : 98958015638
Status : Answered
Chosen Option: 1

Q.19 o9 A 3R B el & @1 Faer 8 O R 12 62 & #¥ Twa €, o9 92T C 9 &F 6 5E F @
T T &1 A A#T B &1 3 @ & fow when 7w # #i R g = Ren s § @ © o g e
& smer ¥ e ¢, ¥F & e gEw F @t ww am

x 1 4%1:%

Ans

X2 3§'EI'E'




Vs 3§Eiﬁ'
X a 4%’Ei%‘

Question ID : 98958015635
Status : Answered
Chosen Option : 3

Q.20 ger Hw=r 3 W B0% W FIA §1 T IS A 30% qF A § A 9F I @ 25% TG & &

Ans

SHST T4 =

v 1 50% I ¥ gEI
X 2 30% T B T2
X 3 5% AT & TS

X 4 5% #r I gF

Question ID : 98958015640
Status : Answered
Chosen Option : 4

Q.21 o gaA= 7Y & =9 JEr 360 m FET & BT EwH o 55 G9E & i wews wow B

Ans

=TT F 24 THE F U F AT § oewd H s (m #) fraer 2

X 1. 445
V2 465
X3 410
X 4 480

Question ID : 98958015636
Status : Answered
Chosen Option : 4

Q.22 IfE x Freafas B, At xt —5x2-1=0%, ar (x5—3x2+%—$+1) T AT T

Ans

X 1116
~< 2 96
X3 110
v+ 126

Question ID : 98958015647
Status : Answered
Chosen Option : 1

Q.23 v faFar & 72400 F 40 = wor TG SH T 30 % wE T R 3w S T e 9w vt &

Ans

9fe 2ot 8 &7 9 9= v % 25% & o g
<1384
v 2 780




<3 372
<4 390

Question ID : 98958015641
Status : Answered
Chosen Option: 1

Q.24 AABC #, D 3R E o7 AC 3T AB st oY fig 8, EW £ADE=<B g1 Ifg AE = 8 cm,
CD =3 cm, DE = 6 cm 3T BC = 9 cm 2, & AD gF°T:

Ais 1.9 cm
<275 cm
<36 cm
<48 em

Question ID : 98958015652
Status : Answered
Chosen Option : 4

Q.25 e gra @ &% O § @ PAX 3t PBY, fonelh fiig P & Rig A 3it B w0 ¥ @ §1 79
Q T g &, =@ 2QAX = 49° Fr £QBY = 62° ¥1 £AQB #r A wr 7

Ans X 1. 83°
v 2 68°
X 3 59°
X 4 67°

Question ID : 98958015650
Status : Answered
Chosen Option : 1

Section : English Language

Q.1 In the sentence identify the segment which contains the grammatical error.

The launch of the small electric car will depend to the willingness of buyers to pay more for
it.

Ans ( 1. depend to the willingness
X 2. of buyers to pay more for it
X 3. small electric car will

x 4. The launch of the

Question ID : 98958015368
Status : Answered
Chosen Option: 3

Q.2 Select the correct indirect form of the given sentence.

Bhola said to his mother, "Why is this charcoal so black?"

Ans x 1. Bhola told his mother why that charcoal was so black.
X 2. Bhola asked his mother why was that charcoal so black.

x 3. Bhola asked his mother why this charcoal is so black.




( 4. Bhola asked his mother why that charcoal was so black.

Question ID : 98958015370
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

She has been writing this novel for a year but she did not finish it yet.
Ans X" 1. had not finished it

x 2. has not finish it
J 3. has not finished it

x 4. No improvement

Question ID : 98958015371
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate synonym of the given word.

ENTHRALL
Ans X" 1. free

X 2. disgust

J 3. mesmerize

X 4. repel

Question ID : 98958015382
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate word to fill in the blank.

to have worked with some renowned scientists of the world.
Ans X" 1. charmed

x 2. favourable

x 3. affluent

J 4. fortunate

She was

Question ID : 98958015392
Status : Answered
Chosen Option : 3

Q.6 Select the word which means the same as the group of words given

a rabbit's dwelling.

Ans X1 lair
75 2.den
X 3. sty
o 2 burrow

[ Question ID : 98958015387




Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate antonym of the given word.

DENOUNCE
Ans “ 1. applaud

x 2. criticise
x 3. blame
< 4. vilify

Question ID : 98958015384
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate synonym of the given word.

FORTIFY
Ans X" 1. harm

J 2. secure
x 3. neglect
x 4. loosen

Question ID : 98958015381
Status : Answered
Chosen Option : 2

Q.9 Select the word which means the same as the group of words given.

A sound that cannot be heard
Ans x 1. inevitable

x 2. incomprehensible

J 3. inaudible
/X 4. illegible

Question ID : 98958015388
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate meaning of the given idiom.

The crux of the matter
Ans “ 1. the critical point

x 2. the interesting thing
x 3. the unknown point

x 4. the lesser issue

Question ID : 98958015385
Status : Answered
Chosen Option: 3

Q.11 Select the most appropriate meaning of the given idiom.




Four corners of the earth
Ans X 1. from beginning to end

x 2. from the very beginning
X 3. from morning till night

J 4. from all parts of the world

Question ID : 98958015386
Status : Answered
Chosen Option : 4

Q.12 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. But after a while they all began to blur in our memories.
B. When we arrived in Bangkok, we took a tour of the city's famous Buddhist temples.
C. However there was one temple, the Temple of Golden Buddha, which left an indelible

impression in our hearts and minds.
D. We visited numerous temples that day.

Ans  of 1 BDAC

/< 2. ADBC
75 3.DCBA
/< 4.BACD

Question ID : 98958015380
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate word to fill in the blank.
Adali Khal is such a
Ans X1 ost
X 2. dreaming

J 3. remote

X 4. lonesome

village in Garhwal that hardly any tourist can reach there.

Question ID : 98958015391
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

They dissuaded me of visiting the War Memorial but | really wanted to see it.
Ans X1 of visit

X 2. No improvement
( 3. from visiting

X 4. to visiting

Question ID : 98958015372
Status : Answered
Chosen Option : 3




Ans

Q.15 Select the wrongly spelt word.

x 1. influence
x 2. inequality
J 3. inefficent

x 4. independence

Question ID : 98958015390
Status : Answered
Chosen Option : 3

Ans

Q.16 Select the correct passive form of the given sentence.

The merchant took out the dead parrot from the cage.

x 1. The dead parrot took out from the cage by the merchant.
x 2. The dead parrot was taking out from the cage by the merchant.
J 3. The dead parrot was taken out from the cage by the merchant.

x 4. The dead parrot is taken out from the cage by the merchant.

Question ID : 98958015369
Status : Answered
Chosen Option: 3

Q.17
Ans

Select the wrongly spelt word.

75 1.board
x 2. bliss
o 3. behaive
x 4. better

Question ID : 98958015389
Status : Answered
Chosen Option : 2

Ans

Q.18 In the sentence identify the segment which contains the grammatical error.

The promoters of Med Hospitals has agreed to sell their business to Pal Hospitals.

x 1. to sell their business
x 2. to Pal Hospitals

x 3. The promoters of

J 4. Med Hospitals has agreed

Question ID : 98958015367
Status : Answered
Chosen Option: 1

Ans

Q.19 Select the most appropriate antonym of the given word.

OPAQUE

x 1. frosty
25 2. dull
x 3. hazy




« 4. clear

Question ID : 98958015383
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

China is the largest producer of pork, but it (1) a big problem at the moment. There is
an epidemic (2) is killing its pigs. The virus was first (3) in August last year, but
one million pigs have died by now. Itis a (4) virus and when a pig catches it, it dies.
China thinks that one third of (5) pigs are going to die by the end of this year.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 1.

Ans { 1. is facing
x 2. faced
x 3. face

x 4. was facing

Question ID : 98958015374
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

China is the largest producer of pork, but it (1) a big problem at the moment. There is
an epidemic (2) is killing its pigs. The virus was first (3) in August last year, but
one million pigs have died by now. It is a (4) virus and when a pig catches it, it dies.
China thinks that one third of (5) pigs are going to die by the end of this year.

SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 2.

Ans X" 1. whom

x 2. what
( 3. which
x 4. who

Question ID : 98958015375
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

China is the largest producer of pork, but it (1) a big problem at the moment. There is
an epidemic (2) is killing its pigs. The virus was first (3) in August last year, but
one million pigs have died by now. It is a (4) virus and when a pig catches it, it dies.
China thinks that one third of (5) pigs are going to die by the end of this year.

SubQuestion No : 22
Q.22 Select the most appropriate option for blank No. 3.

Ans X 1. searched

x 2. learned




( 3. discovered

X 4. invented

Question ID : 98958015376
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

China is the largest producer of pork, but it (1) a big problem at the moment. There is
an epidemic (2) is killing its pigs. The virus was first (3) in August last year, but
one million pigs have died by now. It is a (4) virus and when a pig catches it, it dies.
China thinks that one third of (5) pigs are going to die by the end of this year.

SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 4.

Ans o 1 deadly
7< 2. violent
X 3. cruel
75 4. bloody

Question ID : 98958015377
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

China is the largest producer of pork, but it (1) a big problem at the moment. There is
an epidemic (2) is killing its pigs. The virus was first (3) in August last year, but
one million pigs have died by now. It is a (4) virus and when a pig catches it, it dies.
China thinks that one third of (5) pigs are going to die by the end of this year.

SubQuestion No : 24
Q.24 Select the most appropriate option for blank No. 5.

Ans 5 1 his
W 2its
/< 3.hers
X 4. theirs

Question ID : 98958015378
Status : Not Answered
Chosen Option : --

Q.25 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. There was an old apple tree in the centre of a village.

B. The adults also sat in the shade and discussed important things.

C. They remembered that they too had played around the tree when they were young.
D. Children loved to play around the tree and pick delicious apples.

Ans " 1.DCAB

75 2.CBAD
75 3.ACBD




o 2. ADBC

Question ID : 98958015379
Status : Not Answered
Chosen Option : --




